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ED-2071

M. Com. (Final) EXAMINATION, 2021

(Optional Group—B : Management)
Paper First
FINANCIAL MANAGEMENT
Time : Three Hours
Maximum Marks : 100
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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

SHIE—1
(UNIT—1)
1. gurdl fREer 99w vee e forv R yewm @
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Outline the responsibilities of financial manager for
maintaining effective control.

3rrdT
(Or)

P.T.O.
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= EeT | QA g BT YE 999 el 3T
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®) ®) ®) ®) ®)
Troe x | 5,000 | 10,000 | 10,000 | 3,000 | 2,000
groige y | 20,000 | 10,000 | 5,000 | 3,000 | 2,000
10% W fETPIfeT RS 2

ay BRG

[ 0.909

I 0.826

I 0.751

W, 0.683

V 0.621

From the following information, calculate Net Present
value of the two projects and suggest which of the two
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projects should be accepted assuming a discount rate of

10% :
Project x Projecty
) )
Initial Investment 20,000 : W 30,000 : W
Estimated Life 5 years 5 years
Scrap value 1000 2000
The profits before depreciation and after taxes
(Cash inflow) are as under :
Year| | Yearll | Yearlll | Year IV | Year V

®) ®) ®) ) ®)
Project x| 5,000 | 10,000 | 10,000 | 3,000 | 2,000
Projecty| 20,000 | 10,000 | 5,000 | 3,000 | 2,000
Discounting factor at 10% :

Year Factor

I 0.909

] 0.826

1 0.751

v 0.683

\Y 0.621

THIE—2
(UNIT—2)

Yol B AN B gAY DY | R Sl @ oo
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Define ‘Cost of Capital’. How will you determine the cost
of capital from different sources ?

P.T.O.
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EAILP| 3,00,000 | 3,00,000
TEideR 379 Yof 2,00,000 | 2,00,000
HAT 379 il 4,00,000 | 7,00,000
EIRCIRGRSID] 1,00,000 —
Uol & fafme d1d @ &) & 918 &) anTd 74 &
FUTTH Bl AN 4.77%
QaifreR 39 &1 T 10.53%
HHAT 3 DI AT 14.59%
UiETRT M & ARTd 14.00%

(o1) Y- 9R 3R (@) IR ¥ 4R Bl YA $RA §Y
Uoll @1 ARId a1 IT0ET SHITY |
The following is the capital structure of X Ltd. :

Book Value | Market Value
) )
Debentures 3,00,000 3,00,000
Preference Share Capital 2,00,000 2,00,000
Equity Share Capital 4.00,000 7,00,000
Retained Earnings 1,00,000 —
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The after tax cost of capital of specific source is as under :

Cost of Debentures 4.77%
Cost of Preference Shares 10.53%
Cost of Equity Shares 14.59%
Cost of Retained Earnings 14.00%

Calculate weighted average cost of capital using (a) book
value weights and (b) market value weights.

gPIE—3

(UNIT—3)
AR R ? 39D PR, YT Td AR Bl AR
I |

What is leverage ? Explain its types, effects and
limitations.

arerar
(Or)
35d g for &1 ol Sfar A TR ©
4

7% FEUTIH 6,00,000
8% & FuT (SddTei) 1,00,000
9% aIdR 379 Ufd T 10 7,00,000
19000 AT 3FeT Ui T 50 9,50,000
BIRCIEGRSIR] 6,50,000

N 30,00,000

A Y& IR geH 9 Q4 HE o faemE aiffe em
T 4,50,000 & P ERT Udh fdbrT HRABH &I IIofl

P.T.O.
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(@1) 8% ZoTul BT Rl |

@) 10% SIfEH ofen &1 free |

(|) % 30 UfT 379 & WHIH IR F9aT 32 &l R |

Hald fdded HIF-A1 BET ? HH B 3MIdR &R 50%
A I |

The capital structure of Uday Enterprises Ltd. is as
follows :

%

7% Debentures 6,00,000
8% Bank Loan (Long-term) 1,00,000
9% Preference Shares of

% 10 each 7,00,000
19000 Equity Shares of

% 50 each 9,50,000
Retained Earnings 6,50,000
Total 30,00,000

The present EBIT of the company is ¥ 4,50,000. The
company is planning an expansion programme which will
require an additional investment of ¥ 5,00,000.
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It is expected that the company will be able to maintain
the same rate of earnings before interest and taxes. The
following three proposals are under consideration :

(a) Issue of 8% Debentures.
(b) Issue of 10% Preference Shares.

(c) Issue of equity shares at a premium of ¥ 30 for each
shares.

Examine the above proposals and recommend the best
alternative to the company. Assume that the tax rate is
50% for the company.

gPIE—4
(UNIT—4)
ATTE AT B A= UPRI B AT BT | T GReR
e fifa & o aar ® ?

Explain the different types of dividend policies. What are
the advantages of a stable dividend policy ?

arerar

(Or)
A AT @ Al [aR B @rRer HINTg | A
AT & T H areex G BT guie DITTY |

Explain the relevance concept of dividend policy.
Describe the Walter’s formula regarding dividend policy.

$PI—5
(UNIT—5)
JAbs U= & A~ RN &1 AR DI |

Explain in detail the various steps of cash management.

P.T.O.
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Write short notes on the following :
(a) Credit Analysis
(b) Credit Standards
(c) Credit Terms
(d) Collection Policies
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